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Read the following passage and answer the required questions:

I walked into a popular restaurant recently and heard someone talking in a very loud voice. I was mtrigued
because this is a good restaurant which most people enjoy eating at very much. The staff are helpful and
courteous, the food 1s delicious. and the people who come there are, for the most part. regulars. You can thus
imagine my surprise when I heard a loud. angry voice booming from a table nearly. Now. I'm a curious person
by nature, so I walked over to the nearest table I could get to. I walked over to the nearest table I could get to. I
saw a guest frantically, gesticulating both at the server as well as his food. His body language was screaming
anger and indignation ., as were his facial expressions. He was very loudly telling the server how he was
paying for good food and therefore he demanded nothing but the best, as well as the highest order of respect.
He mentioned that he was a food critic on an online forum and that he would write an honest review of the
restaurant. I zoned out of his tirade and looked around at the other people there to grab a (usually) happy
lunch. Nearly everyone was starting at the guest. some with a look of disbelief. Would you like dealing with
someone as aggressive as him? There is an important difference between being aggressive and being assertive.
While aggressive communication makes people withdraw from vou and want to avoid you assertiveness
makes people want to follow you. Add to this the art of persuasion and you have a winning combination,

Sub questions

Question Number : 1 Question Id : 68634036460 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the word similar m meaning to the word, "tirade."

1. Threating speech

[ )

. Criticism and accusation

Lad

. Emergetic oration

4. Assertive conversation

Options :

686340144001. 1
686340144002. 2
686340144003. 3
686340144004. 4

Question Number : 2 Question Id : 68634036461 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The story narrated in the passage teaches us to be:

1. Polite

| B

. Agressive

LF¥]

. Demanding

4, Persuasive

Options :



686340144005. 1
686340144006. 2
686340144007. 3
686340144008. 4

Question Number : 3 Question Id : 68634036462 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is /are correct as per the passage:

A. The guest in the restaurant was treating the waiter.

B. The guest in the restaurant was demanding only good food.

C. Everyone present in the restaurant considered the guest as an aggressive person.
D. The guest was aggressive as well as assertive.

Choose the correct answer from the options given below:

1. A and C are correst
2. B and D are correst
3. D is correct
4. C 1s correct

Options :

6863401440009. 1

686340144010. 2

686340144011. 3
686340144012. 4

Question Number : 4 Question Id : 68634036463 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Aporessiveness| [ [People follow yvou
Ascertiveness | I |JA winning element
Persuasiveness | [11. [Refined
Politeness IV. [People withdraw from voul

EEE

Choose the correct answer from the options given below:

1. A-IV, B-I. C-II, D-III

| E)

AL B-IV. C-1, D-IV

[#5]

CA-IL B-IIIL, C-TV, D-11
4, A-L. B-II, C-III, D-IV

Options :



686340144013. 1
686340144014. 2
686340144015. 3
686340144016. 4

Question Number : 5 Question Id : 68634036464 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What does 'winning combination' in the story mnclude?
1. Agressive and Assertive
2. Polite andf Persuasive
3. Asgertive and Persuasive
4. Ageressive and Persuasive

Options :

686340144017. 1
686340144018. 2
686340144019. 3
686340144020. 4
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Question Number : 2 Question Id : 68634036461 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Correct Marks : 4 Wrong Marks : 1
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686340144005. 1
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686340144007. 3
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Question Number : 3 Question Id : 68634036462 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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6863401440009. 1
686340144010. 2
686340144011. 3
686340144012. 4
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686340144018. 2
686340144019. 3
686340144020. 4

Sub-Section Number : 2
Sub-Section Id : 6863401200
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 68634036465 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
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Question Numbers : (6 to 10)
Question Label : Comprehension

Read the passage below and answer the questions that follow:

Did you know that your daily habits can turn genes on or off. It's known as gene expression or epigenetics.
Gene expression is a process in which certain genes are turned on or off during one's lifetime. The human
body contains approximately 100 trillion cells. Within each cell 1s the nucleus. Inside every nucleus of every
cell are our genes. Experts estimate that the average human has over 20,000 genes. Some of these genes came
from our mothers and some from our fathers.

Believe it or not, your daily habits can turn genes on or off. Bad habits can turn off good genes and turn on bad
genes. This could mean opening the door to cancer, diabetes, various addictions. brain damage, heart diseases.
ete. Bad habits can create long-term stress in the form of financial problems. job loss, health 1ssues, ete. Long -
term stress mnereases the production of cortisol. a stress hormone. Like a domino effect. cortisol switches on a
series of bad genes that can lead to heart disease. cancer and immunological disorders.

Some of the bad habits that turn bad genes on include:

» Excessive alcohol consumption.

» Diug use.

» Not eating healthy or eating too much junk food can change your DNA.
» Lack off daily aerobic exercise.

» Consuming too much much sugar.

» Not exercising our brains by reading or learning new skills.

» Negative emotions and negative thinking.

Conversely. good habits can turn bad genes off and turn good genes on. The by product of good habits is
reduced stress resulting from financial independence, happiness. good health. etec. Some of these good habits
include:

» Daily reading or learning new skills, which can turn on genes that increase your IQ.

» Daily aerobic exercise. which can turn on genes that prevent heart disease. asthma and other
immunological disorder.

» Meditation, which can turn off bad genes that contribute to the onset of various types of diseases and turn
on good genes that prevent such disease.

» Positive thinking and positive emotions alter the brain's chemistry which increases or decreases gene
eXpression.

Habits are not harmless. They can alter your DNA by changing your genome. This is important but not just for

Sub questions



Question Number : 6 Question Id : 68634036466 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Gene Expression| [ |Changing of genome
B. |Cortisol II. [Turns on a series of bad genes|
C. [Reduced stress | 111 JA process of lifetime
D. [DNA IV JA by product of good habits

Choose the correct answer from the options given below:

1. A-IIT, B-II, C-IV. D-I

| )

CA-IV, B-III, C-I, D-I1

L

CA-IL B-II, C-II1, D-IV
4. A-I1, B-1, C-II. D-IT1

Options :

686340144021. 1
686340144022. 2
686340144023. 3
686340144024. 4

Question Number : 7 Question Id : 68634036467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the statement that are true with regard to your DNA.

A. Tt results into immunological disorder.

B. The altered DNA gets passed on the our children.
C. Habits are harmful.

D. The DNA has the ability to change the genome.
E. The DNA can make you children better or worse.

Choose the correct answer from the options given below:

1.A.B.C.D only

| )

.B.C.E.D only
3.A.B.C.E only

4.A.B.D.E only

Options :

686340144025. 1
686340144026. 2
686340144027. 3
686340144028. 4



Question Number : 8 Question Id : 68634036468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Epileptics is a process:

1. in which certain genes are turned on during one's lifetime.

b2

. in which certain genes remain unchanged.

L¥ 5]

. in which daily habits do not play a par.
4. in which certamn genes are turned on or off.
Options :
686340144029. 1
686340144030. 2

686340144031. 3
686340144032. 4

Question Number : 9 Question Id : 68634036469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Financial problems. job loss. health i1ssues etc. are caused by:
1. turning on the good genes.
2. decreasing the production of cortisol, a stress hormone.
3. bad habits which can create ling-term stress.
4, immunological disorders.
Options :
686340144033. 1
686340144034. 2

686340144035. 3
686340144036. 4

Question Number : 10 Question Id : 68634036470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Consuming too much sugar implies:

1. a bad habait that turns bad gene on.

[ B

. a bad that turns good gene on.
3. a bad habit develops negative thinking.

4. reduced stress levels.



Options :

686340144037. 1
686340144038. 2
686340144039. 3
686340144040. 4
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Correct Marks : 4 Wrong Marks : 1
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Options :

686340144021. 1
686340144022. 2
686340144023. 3
686340144024. 4

Question Number : 7 Question Id : 68634036467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340144025. 1
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[

L]

e

Question Number : 8 Question Id : 68634036468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340144029. 1
686340144030. 2
686340144031. 3
686340144032. 4

Question Number : 9 Question Id : 68634036469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. 9@l + 5P
4. 900 + 3P

Options :



686340144033. 1
686340144034. 2
686340144035. 3
686340144036. 4

Question Number : 10 Question Id : 68634036470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Correct Marks : 4 Wrong Marks : 1
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Options :

686340144037. 1

686340144038. 2

686340144039. 3
686340144040. 4

Sub-Section Number : 3
Sub-Section Id : 6863401201
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Question Number : 11 Question Id : 68634036471 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Read the passage below and answer the questions that follow:

The wise old Wazir was famous for his judgement and people came to him for justice from all parts of the
country. One day two men came to his court and claimed ownership of an extraordinarily good-looking horse.
It was a black beauty indeed. One of the men was tall, very well-dressed and soft-spoken. The Wazir heard
them patiently and asked them to leave the horse and come to him next moming. Both the men came the next
morning. The Wazir asked his soldiers to give the horse to the tall man and to arrest the other man. The tall
man wanted to know how the Wazir had learnt the truth. "Very simple". said he. "Firstly. a man of your
appearance and manners could not have been the thief. Still. I wanted to be sure. just after you had left the
court. I asked one my soldiers to leave the horse free and to see whom it followed. It went after you. This hint
was enough for me."



Which of the following 1s/are correct as per the given statement:
People came to which from all places because he was

A, very famous
B. an old judge
C. an old Wazir
D. a very patient listener
E. a wise judge

Choose the correct answer from the options given below:

l.Aand E

| ]

.B.CandD
3.E only

4. A and D only

Options :

686340144041. 1
686340144042. 2
686340144043. 3
686340144044. 4

Question Number : 11 Question Id : 68634036471 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340144043. 3
686340144044. 4

Question Number : 12 Question Id : 68634036472 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the passage below and answer the questions that follow:

The wise old Wazir was famous for his judgement and people came to him for justice from all parts of the
country. One day two men came to his court and claimed ownership of an extraordinarily good-looking horse.
It was a black beauty indeed. One of the men was tall. very well-dressed and soft-spoken. The Wazir heard
them patiently and asked them to leave the horse and come to him next morning. Both the men came the next
morning. The Wazir asked his soldiers to give the horse to the tall man and to arrest the other man. The tall
man wanted to know how the Wazir had learnt the truth. "Very simple". said he. "Firstly, a man of your
appearance and manners could not have been the thief. Still, I wanted to be sure, just after you had left the
court. I asked one my soldiers to leave the horse free and to see whom it followed. It went after you. This hint
was enough for me.”

This story proves that:

A. the court was quite were very smart

B. the judge was very clever

C. the horse was very clever

D. the horse was a real beauty

E. the judge was indeed quite wise and infelligent

Choose the correct answer from the options given below:

1.LAED

| )

.B.C.Eand D
3. D only
4. E only

Options :

686340144045. 1
686340144046. 2
686340144047. 3
686340144048. 4
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No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340144045. 1
686340144046. 2
686340144047. 3
686340144048. 4

Question Number : 13 Question Id : 68634036473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Read the passage below and answer the questions that follow:

The wise old Wazir was famous for his judgement and people came to him for justice from all parts of the
country. One day two men came to his court and claimed ownership of an extraordinarily good-looking horse.
It was a black beauty indeed. One of the men was tall. very well-dressed and soft-spoken. The Wazir heard
them patiently and asked them to leave the horse and come to him next morning. Both the men came the next
morning. The Wazir asked his soldiers to give the horse to the tall man and to arrest the other man. The tall
man wanted to know how the Wazir had learnt the truth. "Very simple". said he. "Firstly, a man of your
appearance and manners could not have been the thief. Still, I wanted to be sure, just after you had left the
court. I asked one my soldiers to leave the horse free and to see whom it followed. It went after you. This hint
was enough for me.”



With the Wazir's wisdom. the tall man was -

. consoled

. impressed

. embarrassed
. undecided

. confused

sl N o v RN

Choose the correct answer from the options given below:
l.Aand B
2.Cand D
3.DandE
4. B only

Options :

686340144049. 1
686340144050. 2
686340144051. 3
686340144052. 4

Question Number : 13 Question Id : 68634036473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4.3Y
Options :

686340144049. 1
686340144050. 2



686340144051. 3
686340144052. 4

Question Number : 14 Question Id : 68634036474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Read the passage below and answer the questions that follow:

The wise old Wazir was famous for his judgement and people came to him for justice from all parts of the
country. One day two men came to his court and claimed ownership of an extraordinarily good-looking horse.
It was a black beauty indeed. One of the men was tall, very well-dressed and soft-spoken. The Wazir heard
them patiently and asked them to leave the horse and come to him next moming. Both the men came the next
morning. The Wazir asked his soldiers to give the horse to the tall man and to arrest the other man. The tall
man wanted to know how the Wazir had learnt the truth. "Very simple". said he. "Firstly. a man of your
appearance and manners could not have been the thief. Still. I wanted to be sure. just after you had left the
court. I asked one my soldiers to leave the horse free and to see whom it followed. It went after you. This hint
was enough for me."

Choose the correct option:
The Wazir discovered the real owner of the horse

A. by arresting the other man

B. from the appearance and good manners of the tall man
C. by patiently listening to the case of theft

D. by knowing whom the horse followed

E. by leaving the horse free

1.A B.and C

[ )

. D only
3.D and E only
4. A and E only

Options :

686340144053. 1
686340144054. 2
686340144055. 3
686340144056. 4

Question Number : 14 Question Id : 68634036474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TEY U@ FHfId Jux gifeld-

qS ! UYH HdA 81 5 AHS] Siia Bl (R gaall & Qe &1 [Ref1-a< & 9811 9. Wi, o ol 31 73,
1 yd Ha gl 511 Guwadl & 1] Bed U IR £¢ 61| HUPR Wl $ 96 -1, I8 HHel g1 6.
e 30 g &1 i 3US &A1 ¥ 1 59 O IR 81 HRal 4 UIUSdl B0 g1, Sl Yo YRA ay &
Hedld BT PR G| Tl Yo YRAaH & DHedl< & HRUIGH | TE A [galda & gal, IR =1
o, HIRd A g6 oadl. Hadl e14RA 7 ol | §1 [Hded 9d @1 96 Ui gewl 9l 741 |

Rigde &1 He a1ieu -
1. OaH
. %@:Q 3
3,89
4. faure
Options :
686340144053. 1
686340144054. 2

686340144055. 3
686340144056. 4

[

Question Number : 15 Question Id : 68634036475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Read the passage below and answer the questions that follow:

The wise old Wazir was famous for his judgement and people came to him for justice from all parts of the
country. One day two men came to his court and claimed ownership of an extraordinarily good-looking horse.
It was a black beauty indeed. One of the men was tall. very well-dressed and soft-spoken. The Wazir heard
them patiently and asked them to leave the horse and come to him next morning. Both the men came the next
morning. The Wazir asked his soldiers to give the horse to the tall man and to arrest the other man. The tall
man wanted to know how the Wazir had learnt the truth. "Very simple". said he. "Firstly, a man of your
appearance and manners could not have been the thief. Still. I wanted to be sure. just after you had left the
court. I asked one my soldiers to leave the horse free and to see whom it followed. It went after you. This hint
was enough for me.”



Which of the following best describes the other man?

1. Ill-dressed. short-statured. loud-voiced
2. Tall. ill-dressed, courteous
3. Not well-dressed, short but good mannered
4. Thin, poorly built, harsh in expression
Options :
686340144057. 1
686340144058. 2

686340144059. 3
686340144060. 4

Question Number : 15 Question Id : 68634036475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TN Ygehx JHfd IR Sifort-

a9 WY 9ad 61 g oG] Siid' el [0 gaull o Yie &1 RIa1-al § 9611 34, X, &g Sl 31 7S,
1 gd Hd Hel. SR G adl 71 o] daddd 94 R ¢ 6l | HUPR @l & 93 g1, I8 HHEl 561 ¢,
g 30 &= &1 i GUS AT 9T § 1 59 O R 81 BRal 9 UIUSdl B0 g1, Sl ol HRA au &
HedT P PRI GAT| S 1o HRAY & edld BT SR g3 | Ta Al [eaiTd &< dal, IRAIRS s
o, HIRd A g6 oadl. Hadl e14RA 7 ol | §1 [Hded 9d @1 96 Ui gewl 9l 741 |

gfe o Suwt gh-
LY

.34

Rro

L

Options :

686340144057. 1
686340144058. 2
686340144059. 3
686340144060. 4

[ ]

L]

Question Number : 16 Question Id : 68634036476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A |Betrear I. [Languid
B. |[Vivacious II. |Advance
C. [Evidence I1I. |Confutation
D. [Exult IV. [Lament

Choose the correct answer from the options given below:

1. A-I. B-III. C-II. D-IV

| ]

. A-IILL B-I1, C-III, D-IV
3. A-IL. B-1. C-III, D-IV
4. A-IV. B-1I. C-1, D-III

Options :

686340144061. 1
686340144062. 2
686340144063. 3
686340144064. 4

Question Number : 16 Question Id : 68634036476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g H HWT Y BT JER §6 HUS -

A T TS TG 3R UG & Y gl

B. 59 &9 HUSd H &g ol Hfad

C. GU<rg gihg o

D. 34 geary, e, a1 aeay, gier
E. 3R 970 9%eH GRe =u I g

IIRIG AIdiel &1 3Id HH dd, Aid fGU 0 § 9§ 9l 39 &1 99 il

1.D.ECBA

2.AB.C.D.E
3-B.D.B.A. G
4. C,A.D.E.B

Options :

686340144061. 1
686340144062. 2
686340144063. 3
686340144064. 4



Question Number : 17 Question Id : 68634036477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Schism I. |Demote
B. [Quixotic II. [Secretly
C. [Relegate III. [Unrealistic
D. [Incognito IV |5plit

Choose the correct answer from the options given below:

1. A-I. B-II1. C-11. D-IV

| )

CA-IV, B-III, C-I, D-I1

L

CA-ILL B-IIIL C-IV. D-1
4. A-I1, B-IV. C-111. D-1

Options :

686340144065. 1

686340144066. 2

686340144067. 3
686340144068. 4

Question Number : 17 Question Id : 68634036477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafad arel O 9 g[g 919l &1 994 S
A, TUarel 3 09 s Sud fed|
B. &= = I
C. 39 7Md H UR-TR Tg] &2 g
D. 54 fawa & smud g |
E. WeEET 3 yryor fan an
i fau 0 f[daredl | ¥ Uel 3R &1 904 Siig;
1.%dd A, B.C.E
. $dd A.D.E
3. $ddB.C.A
4.%ddD.B.C

| E)



Options :

686340144065. 1
686340144066. 2
686340144067. 3
686340144068. 4

Question Number : 18 Question Id : 68634036478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the option which can substitute the underlined group of words correctly. without changing the meaning
of the sentence.

'Holding the fatal telegram in her closed first, the distraught mother fell back on the couch.’

1. fell back

| B

fell on

. fell back for

Lad

4. no change

Options :

686340144069. 1
686340144070. 2
686340144071. 3
686340144072. 4

Question Number : 18 Question Id : 68634036478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafad ol & 9 Y 919 &1 98- Fife

A. 954 9 YRd & aqTe fagw Ul
B. 370 TR I A oA 90 §
C. 3TU%] 35! §5d WET §
D.Gﬁ%%gqusﬁﬁwfﬂ?ﬁl

E. M-8 S R IE &

i fau U fdeedl § ¥ Ha8 9ugad IR &1 99 Hifeiu:

1 D B

| ]

AB.C
3.B.C.D
4. B,C.E

Options :
686340144069. 1



686340144070. 2
686340144071. 3
686340144072. 4

Question Number : 19 Question Id : 68634036479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the incorrect statement(s) and choose the option given below.

A Tt 1s very difficult to break through the layers surrounding a mystery

B. You achieve a break through

C. If something breaks through. it appears in a place where 1t was previously hidden
D. It was a cloudy day but the sum broke through in the afternoon

Choose the correct answer from the options given below:

1. A B. Conly

[ ]

. C only

L]

.B.D only
4. A.B.C.D only

Options :

686340144073. 1
686340144074. 2
686340144075. 3
686340144076. 4

Question Number : 19 Question Id : 68634036479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



{149 aTe © 9 g1 uRued 3
T HEl oS T FHS TS THST | g M@ 8
A Hfadpeia gl
B. ¥ fdheriorye &l T § |
c. B PRl
D. A gl
EdIaTIa gl
-t Ay g faeeal # 9 Hel IR &1 =0 S
1. ad A
2. Had B
3. %ad C
4. $gU D, E

Options :

686340144073. 1
686340144074. 2
686340144075. 3
686340144076. 4

Question Number : 20 Question Id : 68634036480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the given sentence to find out whether there is any error in it. The number of that part is the answer.
(ignore the errors of punctuation. if any)

. The principal was
. convineed with

. his innocence

. in the act.

PR

| ]
| )

4.4

Options :
686340144077. 1
686340144078. 2



686340144079. 3
686340144080. 4

Question Number : 20 Question Id : 68634036480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafefad gy &1 31% & 5 3fd Iss 8-

dI9 - BURT AIHFgddl &-a71 o1 faars 814 @18l &l

1. TS
2. 98
3.9
4. 98

Options :

686340144077. 1
686340144078. 2
686340144079. 3
686340144080. 4

Question Number : 21 Question Id : 68634036481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the List I with the one word substitution in List IT

LISTI LIST IT
A |Beneath the skin I |Trog lodyte
B. |Too old for work II. |5ub cutaneous
C. |Wise and full of deep knowledgd IT1 |Super annuated
D. |One who lives in a cave IV, |Sapient

Choose the correct answer from the options given below:

1. A-IL. B-IV, C-III. D-I

| E)

. A-IL B-III. C-IV. D-1

[#5]

CA-IL B-1, C-IV. D-ITI
4, A-I1, B-1I1. C-1, D-IV

Options :

686340144081. 1
686340144082. 2
686340144083. 3
686340144084. 4



Question Number : 21 Question Id : 68634036481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
referias &1 fobg fopa»
argyg | 3iid Weg TR a1 & R B |
1. 3l
2. ot
3. HfdsHR
4. 3A

Options :

686340144081. 1
686340144082. 2
686340144083. 3
686340144084. 4

Question Number : 22 Question Id : 68634036482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the correct statements from the sentences given below:

. She despired none of her lovers

. She did not despise any of her lovers

. She Sheldom or ever has sweet talks with her son

. She Sheldom or never has sweet talks with her son
. He ran fast tremendously

HOOHE =

Choose the most appropriate answer from the options given below:

1. A.B.E only
2.E only
3.A.B.Donly
4, C.E only

Options :

686340144085. 1

686340144086. 2

686340144087. 3
686340144088. 4

Question Number : 22 Question Id : 68634036482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SRIHGT BHOR &1 Hed 3| I B i ol Uex GRT B:

1. g1

e

2. gTa-Td
3. dhdlh
4. AR

Options :

686340144085. 1
686340144086. 2
686340144087. 3
686340144088. 4

Question Number : 23 Question Id : 68634036483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Choose the right option of indirect speech:
He said, "The country passed through a crisis ten years ago."
1. He said that the country passed through a crisis ten years before
2. He said that the country had passed through a crisis ten years before
3. He said that country had been passing through a crisis ten years before

4. He said that the country had passed through a crisis ten years ago

Options :

686340144089. 1
686340144090. 2
686340144091. 3
686340144092. 4

Question Number : 23 Question Id : 68634036483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

T 1 T 11
[ g aw I [3rFTg
O] Al 9 &) o 9d| 11 [31fm
Sl Ged ¢ [Gdl og 111 fargi
. |9 99® 3w Al v, [t

frafatad fowel 5 9 96t S| &1 994 DI -

1. A-II. B-ITI. C-IV. D-I

glo|w|=

2. AL B-1. C-I1. D-IV
3. A-VI. B-1, C-I1I. D-I1
4. A-I1, B-1, C-I1, D-IV

Options :

686340144089. 1
686340144090. 2
686340144091. 3
686340144092. 4

Question Number : 24 Question Id : 68634036484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST IT
A |Tut! 1. |Express doubts
B. |[Ahem ! II. |Crv of greeting
C. [Preto ! III. |Slight disapproval
D. |Ahoy ! IV, |[While performing a magic trick

Choose the correct answer from the options given below:

1. A-II. B-1. C-TII. D-IV
2. AL B-1L C-IV, D-II
3. A-IL B-III. C-1, D-IV
4. A-I. B-IIL, C-IV, D-III

Options :

686340144093. 1

686340144094. 2

686340144095. 3
686340144096. 4



Question Number : 24 Question Id : 68634036484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS TERTE &1 Ul 7 o 9% & ol U TS &
1. 3T

Hcd

L5}

| S

3. 3TY
4. 371G

Options :

686340144093. 1
686340144094. 2
686340144095. 3
686340144096. 4

Question Number : 25 Question Id : 68634036485 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A number of sentences are given below which, when properly sequenced. from a coherent paragraph. Each
sentence is labelled with a letter. Choose the most logical order of sentences from among the given choices to
construct a coherent paragraph.

A It was with this mvincible spirit that Netaj: opposed Wavell's offer

B. "Japan" surrender is not India's surrender." he said.

C. The revolutionary spirit of Netaji was never dampened ever after the surrender of Japan
D. He knew that a war of liberation demanded great spirit sacrifice, courage and patience

1L DA Bl

2

.C.B.D.A
3R AT
4 C,A.B.D

Options :

686340144097. 1
686340144098. 2
686340144099. 3
686340144100. 4

Question Number : 25 Question Id : 68634036485 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qaHRI Gl R 9¢ &1 31 &-

A T9HRA R o +ff wRT R g

B. 3T& TR Hg TH W 3T T4 331 &

C. 3T AT 8l 59 9HH B aiad! &2 9Fd &

D. 771Ug aafer] &1 T SumI=d Tel &A1 91|
E. J9@RA W $ul ¥ W aedi gl

=i fou U fasedl 1 9 Jad IUgdd 3o &1 949 HITelg;
1. PAUA. B
2. $au B
3. $HaAC. D
4. PIUE

Options :

686340144097. 1
686340144098. 2
686340144099. 3
686340144100. 4

Question Number : 26 Question Id : 68634036486 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A number of sentences are given below which, when properly sequenced. from a coherent paragraph. Each
sentence is labelled with a letter. Choose the most logical order of sentence from among the given choices to
construct a coherent paragraph.

A India has a near-unique record of strategic matters.

B. But India's four wars all indecisive that is to say, they led to no political objective despite the lives lost.
C. After world War II. it 1s one of the two countries that has fought four wars.

D. The other, of course, is China.

1. AC.D.B

b2

.C,AD.B
3.B.D.CA
4 A B.C.D

Options :

686340144101. 1
686340144102. 2
686340144103. 3
686340144104. 4



Question Number : 26 Question Id : 68634036486 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife

T 1 (AP ITE) T 11 (3
ST A U Wel | 1 [had 9 WegH

et o @1 e 1. [[dl oRE @ foHa] @l 9 8]
3ol g Bidh] Ubar| L [30-1 5375 a1 fexad

R SAERT V. [53@l § o Uel-fomar siaa

fFafaRad fdwedl O O U1 IR &1 994 I :

1. A-IL. B-IV. C-I, D-III

Ofo|w]=

|

. A-TV, B-III. C-1II. D-1
3. A-L. B-1. C-III. D-IV
4. A-I1. B-III. C-IV, D-I

Options :

686340144101. 1
686340144102. 2
686340144103. 3
686340144104. 4

Question Number : 27 Question Id : 68634036487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the following question, the first and the last part of the sentence are numbered as 1 and 6. The rest of
sentences is split into four parts and named P. Q. R and 5. These four parts are not given in their proper order.
Read the sentences and find out which combination is correct.

1. Those that have seen the Hindus

P. have naturally no more doubt

Q. of the existence of other person

R. among them in their own country
S. of their existence than own country
6. whom they have met

1.P.S.Q.R

[ B]

.BS.R.Q
JRPS5.Q
4. R QPS5

Options :

686340144105. 1
686340144106. 2



686340144107. 3
686340144108. 4

Question Number : 27 Question Id : 68634036487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife
A1 T 1
(HETeR UE wrebife) @b
A. [PId] 91a1 34 SUR aTe Tid| L [9e fod U o/ 7ol 6ld
B. [oll gad i I & =2 d| I [ d dIgd &
C.leVidasseliaad |1 ifie sm s erusa e
D. [P WRI & dH WRI el | IV. |41 o= 7 &3d gaR] ®| o=l Bl

FfaiRad foseal § O 98! SR & 904 DI

1. ALBIL C-HE DIV
2. A-IV. B-III, C-II, D-1
3. A-III, B-IV, C-1, D-TI
4. A-IIL, B-IV., C-IL. D-1

Options :

686340144105. 1

686340144106. 2

686340144107. 3
686340144108. 4

Question Number : 28 Question Id : 68634036488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The exact meaning of the underlined phrasal verb is:

'Mahendra doesn't phone me any more.
He was cottoned on to the fact that
I am not interested in his ideas'

A. Understand
B. Realise

C. Chagrined
D. Pacified

Choose the correct answer from the options given below:

1. A B only

|

A, C only
3.C.D only
4. A, C.Donly

Options :

686340144109. 1
686340144110. 2
686340144111. 3
686340144112. 4

Question Number : 28 Question Id : 68634036488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dg gai! WEITd 51 9! 6. § WeTd &1 GaEndt g
1. fa=ara

P
URrs
4. wferd

Options :

686340144109. 1
686340144110. 2
686340144111. 3
686340144112. 4

| ]

[#5]

Question Number : 29 Question Id : 68634036489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the given sentence. a group of words has been underlined. Pick out the one which can substitute the
underlined group of words correctly. without changing the meaning of the sentence.

All of the candidates except Manindra and I intends on choosing cricket as hobby.
1. Me intends on choosing
2. Me intends on choose
3. Me intend to choose

4. T intend on choose

Options :

686340144113. 1
686340144114. 2
686340144115. 3
686340144116. 4

Question Number : 29 Question Id : 68634036489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen
1@ |Gt 0 (qaaarE
L [gfd

A 3@y

B. [3a™ 1L [31geg
C. [deal il ECE]
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frafatad fowel 5 9 96t S| &1 994 DI -

1. A-II. B-I. C-II. D-IV

| o

A-L B-IV, C-II, D-II1
3. A-IV. B-1I, C-II1. D-I
4. A-I1. B-III. C-IV. D-I

Options :

686340144113. 1
686340144114.2
686340144115. 3
686340144116. 4

Question Number : 30 Question Id : 68634036490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match the statements in List I with their one word substitution in List IT

1ISTI LISTII
A |The central part of a wheel] 1. [Incorporeal
B. [Without a body 1I. [Hub
C. |A great work of art II1. [Perjury
D. |A lie told on purpose IV. PMagnum opus

Choose the correct answer from the options given below:

1. A-IL. B-1. C-IV, D-III

| ]

CA-IL B-II, C-II1, D-IV
3. A-III, B-IV, C-1, D-II
4. A-IV, B-1II. C-II. D-1

Options :

686340144117. 1
686340144118. 2
686340144119. 3
686340144120. 4

Question Number : 30 Question Id : 68634036490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g MR 3/Yd ¥ 78 [daR-aud 94|
i Xeg &7 faeiH Ues g2
1. gE-Fwe]
2. yH-grerd
3. TR
4. et

Options :

686340144117. 1
686340144118. 2
686340144119. 3
686340144120. 4

Question Number : 31 Question Id : 68634036491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The ratio of investments of two partners P and Q is 9:10 and the ratio of their profits 1s 4:5. If P mvested the
money for 8 months, then for how much time Q invested his money.

1. & months

| ]

. 9 months
3. 10 months

4. 11 months

Options :

686340144121. 1
686340144122.2
686340144123. 3
686340144124. 4

Question Number : 31 Question Id : 68634036491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P 3R Q AT &I UISIGRI & (a0 BT SUId 9:10 & 3R 39 AT BT 3UId HHT: 4:5 51 TG P 8 HIE
& feru Fawr fasan & 1 @ A fova 99a & ferw faw fasar ur

1.8 Hle

[

.9 Hlg

L]

.10 Hle
4. 11 Hlg

Options :

686340144121. 1
686340144122.2
686340144123. 3
686340144124. 4

Question Number : 32 Question Id : 68634036492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If the compound interest on a certain sum at 10% per annum for 3 years 1s T 33.100. find the simple interest on
the same sum at the same rate and for the same period ?

1. % 25.000
2.3 28.000
3.2 30,000
4.3 32,000
Options :
686340144125. 1
686340144126. 2

686340144127. 3
686340144128. 4

Question Number : 32 Question Id : 68634036492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U (A3 =R R 10 ufowd aiftie & 9 3 a¥ & o awgfes &< 2 33.100 § 1 U o=RIRT 0R,
Gl aX SR I 3(al¥ & U QR &ars Fd Sifeng?

1.3 25,000
2.3 28,000
3.2 30,000
4. % 32,000
Options :
686340144125. 1
686340144126. 2

686340144127. 3
686340144128. 4

Question Number : 33 Question Id : 68634036493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A sum of money becomes ¥ 13.380 after 3 years and T 20.070 after 6 years on compound Interest. Find the
sum?

1.2 8.120
2.2 8,420
3.2 8,520

4, % 8,920



Options :

686340144129. 1
686340144130. 2
686340144131. 3
686340144132. 4

Question Number : 33 Question Id : 68634036493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A IhqlE TS IR U G-I 3 98 o 915 713,380 AR 6 8 & 220,070 I il o | Al SULa Y1
®1 F1d Pifore?

1.2 8,120

| o

. < 8,420
3.2 8,520
4.3 8.920
Options :
686340144129. 1
686340144130. 2

686340144131. 3
686340144132. 4

Question Number : 34 Question Id : 68634036494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A vendor bought Apples at 8 for T 12 and sold them at 6 for Z 10. Find his gain or loss percent?

1. 10% gain

2

. 10% loss
3.11.11% gain
4. 11.11% loss

Options :

686340144133. 1
686340144134.2
686340144135.3
686340144136. 4

Question Number : 34 Question Id : 68634036494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U f[qohar = 212 H 8 T @IS SR 378 T 6 &1 7 10 H 99 foam| T S9E ary a1 g1H-ufawd &1 31a
PIfoTE?

1. 10 Ufd<rd @1y
.10 "id=d g1
11,11 AR oM
11,11 Ufded g1

[

L]

e

Options :

686340144133. 1
686340144134.2
686340144135.3
686340144136. 4

Question Number : 35 Question Id : 68634036495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

After getting two successive discounts. a trouser with a list price of T 300 is available at 2 210, If the second
discount 1s 12.5% find the first discount?

1.10%

| ]
=t
>
=}
(=]

4. 25%

Options :

686340144137.
686340144138.
686340144139.
686340144140.

AW N ==

Question Number : 35 Question Id : 68634036495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AR & §R B¢ ofF & 914 2 300 1 e Gl arell U gaqd 2 210 ¥ I9a« ¢ 1 9% g aR g 12.5
yfcrerd dit o Ugel aR aeit He B I DI

Options :

686340144137. 1
686340144138. 2
686340144139. 3
686340144140. 4

Question Number : 36 Question Id : 68634036496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P scored 30% marks and failed by 30 marks, Q scored 40% marks and obtained 40 marks more than those
required to pass. The pass percentage is:

1. 32%

| B

.34.2%
3. 36%
4. 38%

Options :

686340144141. 1
686340144142. 2
686340144143.3
686340144144. 4

Question Number : 36 Question Id : 68634036496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gfe p 3 30 Uiawa 3iw U U 3R 98 30 3i! § Bd 8 T Siafds Q 7 40 Wiawe 3fe Ui o 3R
S T B @1 qaT F 40 i@ e ure famu| o S<itef 819 &1 wiowrd aan g2

1. 32 Ufded
342 wfded
3. 36 Wfa2rd
4. 38 Hfa2d

Options :

686340144141. 1
686340144142.2
686340144143. 3
686340144144. 4

[

Question Number : 37 Question Id : 68634036497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Aman spends 50% of his income. If income increases by 20% and expenses increases by 10%. his saving will
increases by:

1.25%

| B

. 30%
3. 35%
4. 40%

Options :

686340144145.
686340144 146.
686340144147.
686340144148.

AW N =

Question Number : 37 Question Id : 68634036497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3T 3T 31 BT 50 WTRIT o0 Sl g1 Fia FHS! 31 H 20 Wii=rd 9iG 3R 36 sag § 10 Wia=rd
gf& il & ol Su@! ag9a | [t afs sl

1. 25 Ufded
2. 30 Hfd=rd
3. 35 9faed
4. 40 Hiad

Options :

686340144145. 1
686340144146. 2
686340144147. 3
686340144148. 4

Question Number : 38 Question Id : 68634036498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A pump can fill a tank with water in 2 hours. Because of a leak. it took 2 hours and 20 minutes to fill the tank.
The leak can drain all the water of the rank in:

1. 14 hours
2. 12 hours
3. 10 hours

4. § hours

Options :

686340144149. 1
686340144150. 2
686340144151. 3
686340144152. 4

Question Number : 38 Question Id : 68634036498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U O 2 Ye H O/ 9 U el WX Gahdl & | 394 Us N1 & SRUIEH! W= 8§ 2 1e 20 e @ w59
e ¥ 2t & gl o 31 a1eR feen H a1 90 @ wedl 87

1. 14 H¢
12%¢
3.109¢
4. 89
Options :
686340144149. 1
686340144150. 2

686340144151. 3
686340144152. 4

[

Question Number : 39 Question Id : 68634036499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

By walking at 3/4 of her usual speed. a lady reaches her office 30 minutes later than her usual time. Find the
usual time taken by her to reach her office?

1. 60 min

| ]

. 80 min
3. 90 min

4. 100 min

Options :

686340144153. 1
686340144154. 2
686340144155. 3
686340144156. 4

Question Number : 39 Question Id : 68634036499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U Tidn -1 A 7 1 3/4 71 ¥ IS 9 B 30 FIH- 908 &1 ga1 1§ 30 fHe R ¥ oo
HTATd gl ol T 39 gRT 307 HraTag Ug g+ o (o7g ST arel [ §9Y &1 31 H11eg?

1. 60 T e
.80 e
3. 90 fie
4. 100 fiFE

Options :

686340144153. 1
686340144154.2
686340144155. 3
686340144156. 4

[

Question Number : 40 Question Id : 68634036500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average speed of a car is one-third of the speed of a bus. The bus covers 1125 km 15 hours. How much
distance will the car cover in 30 minutes?

1.12km

| )

.12.5km
3.15km
4. 17 km

Options :

686340144157. 1
686340144158. 2
686340144159. 3
686340144160. 4

Question Number : 40 Question Id : 68634036500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



PR B A A Uh &9 1 71 B Ub-[dels ¢ | I8 a9 15 92 T 1125 [P &l g R Bl g1 dl
Soded BR 30 e 7 fdral ol IR S

1. 12 fodt
125 Tt
.15 foout
4. 17 foodlt

Options :

686340144157. 1
686340144158. 2
686340144159. 3
686340144160. 4

[

L]

Question Number : 41 Question Id : 68634036501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 200 m long train is running with a speed of 50 km/h. In what time will it pass a man who is running at 5
km/h in the direction opposite to that in which the train is going ?

2

4. 15 sec

Options :

686340144161. 1
686340144162. 2
686340144163. 3
686340144164. 4

Question Number : 41 Question Id : 68634036501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



200 FieR Tail Teb ¢4 50 foeil/Her ot 71fd 4 o 361 81 78 fobe- &0 5 39 ogfa & U & Terit, off 5
feprfi/der bt 7ifer 9 39 fewn & fawdia drs Rer e, o fewn i g s el &2

0 358
11
12 3gs
T

[ ]

Options :

686340144161. 1
686340144162. 2
686340144163. 3
686340144164. 4

Question Number : 42 Question Id : 68634036502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P can do a piece of work in 10 days: B in 15 days. They work for 5 days. The rest of the work finished by R in
2 days. If they get T 1.500 for the whole work. the daily wages of B and R are:

1.%125

Options :

686340144165. 1
686340144166. 2
686340144167. 3
686340144168. 4

Question Number : 42 Question Id : 68634036502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



P® & T UM I 10 TG H X 9Far 8. el B &l 15 A @ 81 59 a1 7 5 f&7 9% & foan r 3
9 &7 2 & T OR1 foan) afe 35 W & g 2 1.500 f1ad © a1 B SR R &Fe meigdl fa-i grite

1-%125

]
AH
—
Lh
=

Options :

686340144165. 1
686340144166. 2
686340144167. 3
686340144168. 4

Question Number : 43 Question Id : 68634036503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P and Q working separately can do a piece of work in 9 and 12 days respectively. If they work for a day
alternately. P beginning, in how many days. the work will be completed ?

1.8

| B

. 10

3. 101

4

4,12

Options :

686340144169. 1
686340144170. 2
686340144171. 3
686340144172. 4

Question Number : 43 Question Id : 68634036503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gy ¥4 Y P PR ald P 3R Q B & U YA &I T 0 3fR12 ¢ T Q1 $= ¥ 51 Ald d
faeeqd: Ueh o & e 1 & ©. oI p &R UR™ &Rar § of o 1641 1 98 &1 RIS

1.8

[

10

4. 12

Options :

686340144169. 1
686340144170. 2
686340144171.3
686340144172. 4

Question Number : 44 Question Id : 68634036504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A and B can do a piece of work in 10 days. B and C together can do it in 15 days. If A 1s twice as good a
workman as C. Find what time B alone can do 1t?

1. 20 days

| )

. 25 days
3. 30 days
4. 35 days

Options :

686340144173. 1
686340144174.2
686340144175. 3
686340144176. 4

Question Number : 44 Question Id : 68634036504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AIRBIH B TF U H 10 AT R ITAE I BIR CcH I Fa g Ig 15T d s gsa g1 afe
AT 4 & EUH ¢ B o H <l T =018 1 3idl B - 5§ 38 IR R 9ehdl 62

1.20 &
22514
3.30 a7
f&a

4.3

Ln

Options :

686340144173. 1
686340144174.2
686340144175. 3
686340144176. 4

Question Number : 45 Question Id : 68634036505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The average of ten numbers is 8. If each numbers is multiplied by 15, then average of the set of numbers is:

1.8

[ )

. 120
3. 100

4. 110

Options :

686340144177. 1
686340144178. 2
686340144179. 3
686340144180. 4

Question Number : 45 Question Id : 68634036505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10 TS @1 31 8 § 1 i Tl TR &7 15 3 T[0n o S § o WRenait & U 9= &7 3id aa
B

1.8

2

. 120

3. 100

4. 110



Options :

686340144177. 1
686340144178. 2
686340144179. 3
686340144180. 4

Question Number : 46 Question Id : 68634036506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average weight of 10 men is increased by 1.5 kg when one of them, who weighs 70 kg is replaced by a
new man. The weight of the new man 1s:

1. 85kg

| )

.90 ke
3.80kg
4. 87 kg
Options :
686340144181. 1
686340144182. 2

686340144183. 3
686340144184. 4

Question Number : 46 Question Id : 68634036506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10 SATGRTE] P A HR H e 1.5 fobon1 91 i €1 Oirell €. 9 78 ¥ 70 fham YR arel Ueb olifed o1 g
ogfeRt § wicreuTiire faam SITaT € | <t U oafekd &7 HR o1 &9

1. 85 oo
.00 feam
.80 foam
4. 87 fooumm

[

L]

Options :

686340144181. 1
686340144182.2
686340144183. 3
686340144184. 4

Question Number : 47 Question Id : 68634036507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A, B. C and D are four consecutive even numbers respectively and their average 1s 61. What is the product of
AandD?

1.3612

| B

. 3512
35712
4. 3812

Options :

686340144185.
686340144186.
686340144187.
686340144188.

AW N =

Question Number : 47 Question Id : 68634036507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A.B.C 3R D ®H: IR Aoy 99 Twea ¢ SR 319d 61 §1 dl A 31X D UG HI1 52

1.3612

|
faa
L
[

ot

4. 3812

Options :

686340144185.
686340144186.
686340144187.
686340144188.

AW N =

Question Number : 48 Question Id : 68634036508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 : : s
In what ratio must water be mixed with milk to gain [6:1% on selling the mixture at cost price?

[y

223

[

123

L]
—_
Ln

4. 1:6

Options :



6863401441809. 1
686340144190. 2
686340144191. 3
686340144192. 4

Question Number : 48 Question Id : 68634036508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Y & TN Jed I m%% oY A & foru gy o febd 3rgurd & uril faamn s =nfew

1.2:3

| ]
[
T

L]
[y
n

4.1:6

Options :

686340144189. 1
686340144190. 2
686340144191. 3
686340144192. 4

Question Number : 49 Question Id : 68634036509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Four unbiased coins are tossed. What is the probability of getting almost three heads ?

[ ]
|'J|

—
=

Options :

686340144193. 1
686340144194. 2
686340144195.3
686340144196. 4

Question Number : 49 Question Id : 68634036509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IR Y&TaRied g ITd oid © | T o1 g U1 &1 991 Ui dT 2

gk
16
, 15
16
3
T
16
48
16
Options :

686340144193. 1
686340144194. 2
686340144195. 3
686340144196. 4

Question Number : 50 Question Id : 68634036510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In how many ways can the letters of the word 'DETAIL' be arranged so that the vowels occupy only the odd
positions ?

1.24

[ ]
| ]
=]

4. 36

Options :

686340144197. 1
686340144198. 2
686340144199. 3
686340144200. 4

Question Number : 50 Question Id : 68634036510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



DETAIL' ¥sq & qui &) fopa- aiie! & ouafRyd fobar o gadr & difds ) Sad faws fRufa @2

1.24

| ]

. 28

4. 36

Options :

686340144197. 1
686340144198. 2
686340144199. 3
686340144200. 4

Question Number : 51 Question Id : 68634036511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is true based on the following diagram?

1

(] ,

1.BC<4B
2.BC>4B
3.AC<A4B
4. AC<BC

Options :

686340144201. 1
686340144202. 2
686340144203. 3
686340144204. 4

Question Number : 51 Question Id : 68634036511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frgfaf@d oma & anyR W= Gy faeei § ¥ SR gt 82

A

S O\

1.BC<A4B
2. BC>AB
3. AC<ARB
4, AC=BC

Options :

686340144201. 1
686340144202. 2
686340144203. 3
686340144204. 4

Question Number : 52 Question Id : 68634036512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The heights of two right circular cones are in the ratio 1:2 and the perimeters of their bases are in the ratio 3:4.
Find the ratio of their volumes?

[ ]
=1
Tag
o

3.9:32
4, 1:32

Options :

686340144205.
686340144206.
686340144207.
686340144208.

AW N =

Question Number : 52 Question Id : 68634036512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&I dE oiTa S Bt Harsal FT MU 1: 2 § R SF AMURT &1 aRE 3:4 AU H 81 A 375
ST &1 ST [id PIfog?

1:8:35

| )

. 1232
3.9:32
4. 1:32

Options :

686340144205.
686340144206.
686340144207.
686340144208.

AW N =

Question Number : 53 Question Id : 68634036513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If the surface areas of two spheres are in the ratio of 4:25. then the ratio of their volumes is:

1. 1:120

[ )

. 8:123
3. 8:127
4. 8:125

Options :

6863401442009. 1
686340144210. 2
686340144211. 3
686340144212. 4

Question Number : 53 Question Id : 68634036513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

21 7Iiell &1 gty &AW 4:25 & JUd H & Al 3 ST Bl 3FUTd &l 82

1.1:120

|

. 8:123
3. 8:127
4. 8:125

Options :
686340144209. 1



686340144210. 2
686340144211. 3
686340144212. 4

Question Number : 54 Question Id : 68634036514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- 5 | ]
If @ +b%+— +og=4 then the value of ;2 | 32
a” Y

bJ
[ ]

Lad
)

4.6

Options :

686340144213. 1
686340144214.2
686340144215.3
686340144216. 4

Question Number : 54 Question Id : 68634036514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afy o + 5 +—':+h‘: —4 B 2, 2 DTHH TSN

o

| ]
| ]

4.6

Options :

686340144213. 1
686340144214.2
686340144215. 3
686340144216. 4

Question Number : 55 Question Id : 68634036515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a+th+e=6.a%+h*+c=14and a®+ b + 3 = 36. then the value of abe is:

| )
ea]

3.16
4,18

Options :

686340144217. 1
686340144218.2
686340144219. 3
686340144220. 4

Question Number : 55 Question Id : 68634036515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a4

Uida+b+e=6.a2+b2+C2=14 3R a%+ b> + 3 = 36 © dl abc DT T T &2

1.6

b2
oo

3. 16
4. 18

Options :

686340144217. 1
686340144218. 2
686340144219. 3
686340144220. 4

Question Number : 56 Question Id : 68634036516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Below question contains two equations as I and II. You have to solve both equations and determine the
relationship between them and choose correct option:

L2x2+3x—35=0
II. 42+ 10y —104 =0

1. #x>y

[ ]

Ifx<y
3.3If x>y
4. If x = y or relationship between x and y cannot be established
Options :
686340144221. 1
686340144222.2

686340144223. 3
686340144224. 4

Question Number : 56 Question Id : 68634036516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ja feruuy & g1 gdlaxu1 SR 11 &6 =9 H § 1 3MUd! SHf THiE0l I 86 &l ¢ 3R 3% did
Hay 3 fHuifva @ifon | get fdee 9= Fifon:

L2x2+3x—35=0

II. 4y° + 10y —104 =0

1. 9fe x >y

2.°fGx< y

3.91¢ x = y

4. 93 x= y YT x 3R y D drd &Y RIUT g1 [bal o Thal

Options :

686340144221. 1
686340144222.2
686340144223. 3
686340144224. 4

Question Number : 57 Question Id : 68634036517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A square is inscribed in a circle of diameter 2a and another square is circumscribing circle. The difference
between the arcas of outer and inner squares is:

[ ]

| ]

o
3

4. 4a°

Options :

686340144225 1
686340144226.2
686340144227.3
686340144228. 4

Question Number : 57 Question Id : 68634036517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS 1 DI 22 N aTel U g § Sfadiad fdan a1 § SR 30 a7 &1 giad o7 | Siadiad [l a6 |
1 S SR SHiaRe a7l & &1 3R 57

L2
[ ]
)
[

4. 4a°

Options :

686340144225. 1
686340144226. 2
686340144227. 3
686340144228. 4

Question Number : 58 Question Id : 68634036518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If PO and RS are two diameters of a circle of radius r and they are mutually perpendicular, then what is the
ratio of the area of the circle to the area of the APRS?

!1_.1
=
—t

4. 2n:1

Options :

686340144229. 1
686340144230. 2
686340144231. 3
686340144232. 4

Question Number : 58 Question Id : 68634036518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gi¢ PQ SR RS AT+ & Uth 9 o &l 19 § 3R d URIUR &idad o1 dl gd o &A% DI APRS & &ABA
% 1Y ST 1 52

i

I

4 2m: 1

Options :

686340144229. 1
686340144230. 2
686340144231. 3
686340144232. 4

Question Number : 59 Question Id : 68634036519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



+ + ¥ e :
4x5 5x6 6x7 10x11

Find the value of

|
o

b2

Options :

686340144233. 1
686340144234.2
686340144235. 3
686340144236. 4

Question Number : 59 Question Id : 68634036519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 1 1 |
+ + P +——— ®MHAHAHE @ Iéiq
dx5 5Sxb6  6x7 1011 T
1. L
43
et
40
- L
44
+ %0

Options :

686340144233. 1
686340144234.2
686340144235. 3
686340144236. 4

Question Number : 60 Question Id : 68634036520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If x 15 an integer such that « —l( '4—_ . then the value of « -E- :
N

13
4

[
& |

&3

19
4

Options :

686340144237. 1
686340144238. 2
686340144239. 3
686340144240. 4

Question Number : 60 Question Id : 68634036520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R U UPR PTG 3 fb x4 L —1—: al x-L srome e
X

—
L

)
— —
.L.lq .n..|,j|

19
4

o

Options :

686340144237. 1
686340144238. 2
686340144239. 3
686340144240. 4

Question Number : 61 Question Id : 68634036521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A bag contains one-rupee, S0-paise and 25-paise coins in the ratio 5:6:8. If the total amount of money in the
bag is ¥ 250, find the numbers of 50 p coins in a bag?

1.120

| ]

130
3. 140
4. 150

Options :

686340144241. 1
686340144242.2
686340144243. 3
686340144244. 4

Question Number : 61 Question Id : 68634036521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 4l H 5:6:8 B [UId J PH: U YUY, 50 U 3R 25 T4 & Ryads 1 afd 39 9 d oat o-RIf 2 250
£ dl 3TH 50 T8 & Rygw! ot I= J1d Sife

1.120

-2

130
3. 140
4. 150

Options :

686340144241. 1
686340144242. 2
686340144243.3
686340144244. 4

Question Number : 62 Question Id : 68634036522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sum of money is divided among P. Q. R and S in the ratio of 3:4:9:10 respectively. If the share of R 15 ¥
2.580 more than the share of Q. then what is the total amount of Q and S together?

1.27.220

[ ]
AH
~1
J
-
ot



Options :

686340144245. 1
686340144246. 2
686340144247.3
686340144248. 4

Question Number : 62 Question Id : 68634036522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U YRR 3:4:0:10 P UG & HAW: P, Q. R 3R s T A Tl 31 A Q F e ol qan H R &1 f'g=wm
7 2.580 Y 3 1 Q 3R s 1 @1 U A1y e = Ppa A1 a1 g2

;S A3 0.

| o

77999

I i e
3.3 7,22
4.27.324

Options :

686340144245. 1
686340144246. 2
686340144247.3
686340144248. 4

Question Number : 63 Question Id : 68634036523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A bag contains 6 blue. 4 red. 3 yellow and 2 green marbles. If 4 marbles are picked up at random, what 1s the
probability that atleast one of them 1s red?

67
91

68
91

2

Options :

686340144249. 1
686340144250. 2
686340144251. 3
686340144252. 4



Question Number : 63 Question Id : 68634036523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Ud H 6 e, 4 T, 3 Hic] AR 2 S S 81 TS Aefes® &0 H 4 Sl & g1 ofdl § a1 378 $H I
&Y 10 T & $d B B WGl 1 57

67
91

68
" 91

| ]

Options :

686340144249. 1
686340144250. 2
686340144251. 3
686340144252. 4

Question Number : 64 Question Id : 68634036524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A merchant has 500 kg of sugar. some part of which he sells at 8% profit and rest at 18% profit. He gains 14%
on the whole. The quantity sold at 18% profit 1s:

1. 200 kg

| )

. 300 kg
3. 400 kg
4. 500 kg

Options :

686340144253. 1
686340144254. 2
686340144255. 3
686340144256. 4

Question Number : 64 Question Id : 68634036524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U& SAMRI & 919 500 f01 a8, o] o YT a8 8 Uid=Id & ary W g odl g Sik 29 4
&1 18 AR=Id & a1 TR fasha a1 § | T0f IR 8 14% T1H I Sl o1 < 18 Ha<id & @ | faswg
@I O &I HE1 F1 32

1. 200 Ty
300 f9
3. 400 T Y
4. 500 T ¥
Options :
686340144253. 1
686340144254.2

686340144255. 3
686340144256. 4

[

Question Number : 65 Question Id : 68634036525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In how many ways. a committe of 5 members be selected from 7 men and 5 ladies. consisting of 3 men and 2
ladies?

3. 340
4. 350

Options :

686340144257. 1
686340144258. 2
686340144259. 3
686340144260. 4

Question Number : 65 Question Id : 68634036525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



7 9&I SR 5 Afearsi A s Yaedl B 38 TP FHfd &7 =99 fra alionl & fovan o I 6. forad 3 g
3R 2 Afgard i

1. 310

|

320
3. 340
4. 350

Options :

686340144257. 1
686340144258. 2
686340144259. 3
686340144260. 4

Question Number : 66 Question Id : 68634036526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the odd group in the following :

1.2.3.5.7

[ )

17,19, 23,29

4.37.41, 43,49

Options :

686340144261. 1
686340144262. 2
686340144263. 3
686340144264. 4

Question Number : 66 Question Id : 68634036526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad 7 ¥ favs 9 &1 984 Sifo.

12203507

| ]

CIT 1952320
3. 53, 59, 61, 67
4.37,41,43.49

Options :
686340144261. 1



686340144262. 2
686340144263. 3
686340144264. 4

Question Number : 67 Question Id : 68634036527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the number which is different from others in the group

13::17::23,:63, /71

1.13

| ]
| ]
[#¥]

4.71

Options :

686340144265. 1
686340144266. 2
686340144267. 3
686340144268. 4

Question Number : 67 Question Id : 68634036527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T U&= BT 99 Siford ol HaEfared 98 1 o= 9 i g2

13,17.23,63, 71

[ ]
[ B
[F¥]

4. 71

Options :

686340144265. 1
686340144266. 2
686340144267. 3
686340144268. 4

Question Number : 68 Question Id : 68634036528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following best represented by the figure below.
=

©

A. Furniture, Table, Calur

B. Polygon. Rectangle. Square
C. Year. Week. Day

D. Bouquet, Flowers, Petals

E. Vehicle. Bus, Car

Choose the most appropriate answer from the options given below:

1. A, B, C only

| )

.B. C.D only

L]

.C.D. E only

4. A, C.E only

Options :

686340144269. 1
686340144270. 2
686340144271. 3
686340144272. 4

Question Number : 68 Question Id : 68634036528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i g1 71z sl Fafatad © 9 fewe! gaian ¢ 9 wlafia sl 82

A THITER, 9d, Tl
B. §gYd. 3q. 91
C. Oy, ¥dE. f&

D. A&, P, dgfsal
E. 316, 9, PR

e fau U faeedl © ¥ He9 Iugad IR &1 99 Hifeiu:
1. d A. B, C
2. $ad B, C.D
3. %90 C, D.E
4. AU A, C.E

5

%

Options :

686340144269. 1
686340144270. 2
686340144271. 3
686340144272. 4

Question Number : 69 Question Id : 68634036529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A walls 15 m in front and 15 m to the right then every time turning to his left. he walks 10. 20 and 30 m
respectively. How far is he now from his starting point?

1.5m

; S\E m

3.10m

4. 1042 m

Options :

686340144273. 1
686340144274.2
686340144275. 3
686340144276. 4

-2

Question Number : 69 Question Id : 68634036529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :



No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A 3T G B 3fR 15 HieX 3R g15 3R 15 e d% Ued gadi ¢ | 59 915, 98 P aR AUl alg
3R gSd §UBH: 10, 20 3R 30 Hicx Ugd Fadl & | dl 98 34 39 URIED f6g F a1 ge 82

1. 5HIeR
2 x-;‘E]ﬂE?
3. 10 HIex

wd

4. 1042 HieX

Options :

686340144273. 1
686340144274.2
686340144275. 3
686340144276. 4

Question Number : 70 Question Id : 68634036530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P.Q.R. S. T. U, V. W are sitting around a round table in the same order. at equal distances. Their positions are
clockwise. If V sits in the north, then what will be the position of S?

1. East

2. South-east
3. South

4. South-west

Options :

686340144277. 1
686340144278. 2
686340144279. 3
686340144280. 4

Question Number : 70 Question Id : 68634036530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



P.Q.R.S.T. U, V. WU Td ¢ad & dRI 3R TAM o3l IR FAM HH B 96 §U o | 37! (Uil afémomad
g13f¢ vIm A doIgen g ol s 3 fRufa an g

1. 7d
gféorgd
. Gf&ror

4. SIEUTigy
Options :
686340144277. 1
686340144278. 2

686340144279. 3
686340144280. 4

[ ]

L]

Question Number : 71 Question Id : 68634036531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who 1s the grand mother of D?
Given:

A. Ais the mother of B
B. C 1s the son of A

C. D is the brother of E
D. E is the daughter of B

Choose the correct answer from the options given below:
LA
2.B
3.€
4. E

Options :

686340144281. 1
686340144282.2
686340144283. 3
686340144284. 4

Question Number : 71 Question Id : 68634036531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



D &1 ¥is AeX B &2
A fergr o o

A.A.B 3 AW G
B.C.ABIAGI
C.D.EFI UG ®
D.E.B®I A 5|

Fafeiad ¥ ¥ 999 Suged SR &1 98- Sife|

1.LA

[

.B

3.C

4. E
Options :
686340144281. 1
686340144282. 2

686340144283. 3
686340144284. 4

Question Number : 72 Question Id : 68634036532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
If in certain code:
'bir le nac’ means 'green and tasty'
'pic nac hor' means "tomato 1s green'
'coc bir hor' means 'food is tasty'
Which of the following means “tomato is testy' in that code?
1. bir le hor
2. pic hor nac
3. hor bir pic
4. nac le coc
Options :
686340144285. 1
686340144286. 2

686340144287. 3
686340144288. 4



Question Number : 72 Question Id : 68634036532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afg -Up [EIEG] QP o

'bir le nac' @1 3 g- 'green and tasty’

'pic nac hor' PI 3¢ § - 'tomato is green’

‘coc bir hor' @1 3 § - 'food is tasty’

RENEG| P o fgferiad 9 9 fdwat 31 tomato is tasty' 2
1. bir le hor
2. pic hor nac
3. hor bir pic
4. nac le coc

Options :

686340144285. 1
686340144286. 2
686340144287. 3
686340144288. 4

Question Number : 73 Question Id : 68634036533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose a number to replace question mark which can establish the relationship between the number on either
side of::

Given 9:80::100: ?

1. 901

| )

. 1009
3. 9889

4, 9999

Options :

686340144289. 1
686340144290. 2
686340144291. 3
686340144292. 4

Question Number : 73 Question Id : 68634036533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Uy o8 B Ui d S & [0 39 U W81 &1 994 SHIU ol - : & g1 3R B T3] & &d T34
ey I B Gl o

fear T 8- 9:80::100:7

1. 901

| )

. 1009
3. 9889

4. 9990

Options :

686340144289. 1
686340144290. 2
686340144291. 3
686340144292. 4

Question Number : 74 Question Id : 68634036534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given set: (21, 51. 15)

Select the pair from following in which the numbers are similarly related as in the given set.

1. (21. 30, 51)

| )

(21, 35, 41)
3.(21, 51, 42

4. (21,91,

[F¥]
[
L

Options :

686340144293. 1
686340144294. 2
686340144295. 3
686340144296. 4

Question Number : 74 Question Id : 68634036534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fean o vg= « (21.51.15)
fFraffad & ¥ 99 o & 907 Fifon. S Sean ga9 =0 3 96fa 8. o i ag=a § e g

1. (21. 30, 51)

| )

(21, 35,

LN
e
fAd,
L

L#S]

(21, 51.

i
—_
e
[ )
o —

4. (21,91, 35)

Options :

686340144293. 1
686340144294. 2
686340144295. 3
686340144296. 4

Question Number : 75 Question Id : 68634036535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose pair of words that will fill blanks so that the sentence becomes true and sensible 1s to Cork as
Box is to

1. Wine-Hat
2. Bottle-Lid
3. Wood-Fight
4. Spout-Crate
Options :
686340144297. 1
686340144298. 2

686340144299. 3
686340144300. 4

Question Number : 75 Question Id : 68634036535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 9157 - 8¢

2. didel - b
3. 1Y - WSTS
4. Tict

Options :

686340144297. 1
686340144298. 2
686340144299. 3
686340144300. 4

Question Number : 76 Question Id : 68634036536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose a word for I from (A), (B). (C). (D) as well as a word for IT from (P). (Q). (R). (S) to establish the
similar relationship between the words on either side of :: in - "I : Gum :: Worm : II"

I. (A) Bottle (B) Brand (C) Loaf (D) Tree
II. (P) Silk (Q) Insect (R) Cocoon (S) Thread

Choose the correct combination from the following:
1. AQ
2.BR
3.CS
4. DP

Options :

686340144301. 1
686340144302. 2
686340144303. 3
686340144304. 4

Question Number : 76 Question Id : 68634036536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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I (P) XTH (Q) DI (R) BIRDIY (S) YT

fafaiad 5 9 gt 9uieq &1 994 Sifeu:

1. AQ

2. BR

3.C8

4. DP
Options :
686340144301. 1
686340144302. 2

686340144303. 3
686340144304. 4

Question Number : 77 Question Id : 68634036537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Statement: Should the consumption of aerated drinks be banned in India?

Arguments: I) Yes, this is the only way to reduce the risk of exposing people to some diseases
IT) No. there 1s no confirmed evidence that such products have adverse effects on human body

Which of the above argument(s) hold strong for the statement ?

1. Only argument I

[ ]

. Only argument II
3. Argument [ and argument II
4. Neither argument I and argument IT

Options :

686340144305. 1
686340144306. 2
686340144307. 3
686340144308. 4

Question Number : 77 Question Id : 68634036537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. $ad dd -1
2. Pad ab - II
3. TP 1 3R TP - 11
4 9dldB -LT8ldd - 11

Options :

686340144305. 1
686340144306. 2
686340144307. 3
686340144308. 4

Question Number : 78 Question Id : 68634036538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a certain code, DESK is written as # $ 52, RIDE is written as % 7 # $. How is RISK written in that code?

1. %752

[

2
&~
-]
1o
IJ'

4. %TH2

Options :

686340144309. 1
686340144310. 2
686340144311. 3
686340144312. 4

Question Number : 78 Question Id : 68634036538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U% [Id gc T DESK @l 4552 & ¥ ¥ @] 8 3R RIDE &1 % 745 & U 4 [a@l o | ol 59 @¢ 8 RISK
®I Py foRaT ST 87

1. %752

3. %78+
4. %T=2

Options :

686340144309. 1
686340144310. 2
686340144311. 3
686340144312. 4

Question Number : 79 Question Id : 68634036539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ifinacertaincode. OiswrittenasE. Aas C.Mas. SasO. NasP. EasM.TasA. Pas N and C as S, then
how will COMPANIES be written in that code?

1. SMINCPAMO

| )

. SETACPAMO

L]

. SEINCPAMO
4. SIMNCPMAO

Options :

686340144313. 1
686340144314. 2
686340144315. 3
686340144316. 4

Question Number : 79 Question Id : 68634036539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IR PR e O P ES TUH ADICHTIE MBI I FIH SHIOPFUHNDIPH EY
TEDMPEIN IDAPEIL PRHINSG EUH SR CDIS P EYH ora ol § o Sudad de o
COMPANIES &1 & ferar s

1. SMINCPAMO

| )

. SEIACPAMO

Lag

. SEINCPAMO
4. SIMNCPMAO

Options :

686340144313. 1

686340144314.2

686340144315. 3
686340144316. 4

Question Number : 80 Question Id : 68634036540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Statement: A tells B that. "In my absence. I request you to look after the affairs of our company.”

Assumptions: I) B may not accept the request of A.
IT) B has expertise to handle the affairs of the company.

Which of the above assumption(s) 1s/are implicit in the statement?

1. Only assumption I

[ ]

. Only assumption II
3. Assumption I and assumption IT
4. Neither assumption I nor assumption II

Options :

686340144317. 1
686340144318. 2
686340144319. 3
686340144320. 4

Question Number : 80 Question Id : 68634036540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HUF: A. B U HEdl 8. "TRT SIURUTT & TR1 309 ofR1 § 16 30 89K 0! & Tl &1 S yTd 1|

Ud-4RUT - I: B. A T 3RIY TR 78] B2 Pl ¢
II: B &1 59 &Y & ATHe &1 SHIe- H fa2mar g1

Frafafaa 3 ¥ $H-1 yd uRon/gd yRomg Sudad $uF § sidf-fed o
1. $ad gd YR - I
2. &ael Yd YR - 11
3. gd YRO - I 3R 94 YRN - I
4. A qd - YRON - 1. 7 81 gd ¥R - 11

Options :

686340144317 1
686340144318. 2
686340144319. 3
686340144320. 4

Question Number : 81 Question Id : 68634036541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following month pair starts on some day in a year?

1. June October

| B

. April. November

LIF¥]

. April, July
4. October, December

Options :

686340144321. 1
686340144322.2
686340144323. 3
686340144324. 4

Question Number : 81 Question Id : 68634036541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafafad I 9 $H-91 018 79 te 7 § 90 G0 R SRe g1 82
1. 9, SaeaR
. 3{Yd, AarER

3V, SeTs
4, SR, g8

[

L]

Options :

686340144321. 1
686340144322.2
686340144323. 3
686340144324. 4

Question Number : 82 Question Id : 68634036542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Two positions of a dice are shown below. What number will be at the bottom, when number 1 is on the top?

O [

bJ
L%

4,

[

Options :

686340144325. 1
686340144326. 2
686340144327. 3
686340144328. 4

Question Number : 82 Question Id : 68634036542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.2

[ ]
5]

4.

LA

Options :

686340144325. 1
686340144326. 2
686340144327. 3
686340144328. 4

Question Number : 83 Question Id : 68634036543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many triangles and square are there in the given figure?

1. 28 triangles, 3 squares

| )

. 24 triangles, 5 squares
3. 28 triangles, 5 squares
4. 24 triangles, 3 squares

Options :

686340144329. 1
686340144330. 2
686340144331. 3
686340144332. 4

Question Number : 83 Question Id : 68634036543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=ital 31 71% anepta H fopa Breptur siR &l €2

1. 28 BepTOL. 3 @
24 Bpior, s @
3. 28 F3spiun. 5 &f
4. 24 Bropion, 3 of

b2

Options :

686340144329. 1
686340144330. 2
686340144331. 3
686340144332. 4

Question Number : 84 Question Id : 68634036544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the mirror of the given word with respect to XX'

EX
I
TARAIN1014A i
I
I
I

X

[y

-ARTOTUIARAL
-ATOTAMIAAAT
3. ATOMATAAAIN

4. ARTOTUIARAT

Options :

686340144333. 1
686340144334. 2
686340144335. 3
686340144336. 4

[

Question Number : 84 Question Id : 68634036544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



X -X 1 & dey # f2u U vse 1 g4 B9 31 ugwH Sifog:
X
TARAIN1014A i

X

ey

-ARFOTMIAHAL
-ATOTAMIAAAT
3. ATOTATARAIN

4+ ARFOTUIARAT

Options :

686340144333. 1
686340144334. 2
686340144335. 3
686340144336. 4

| ]

Question Number : 85 Question Id : 68634036545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A class stands in a single line. One student is seventeenth in order from both the ends. What is the strength of
the class?

ik
[F]
L

2.:33
3. 34
4. 32

Options :

686340144337. 1
686340144338. 2
686340144339. 3
686340144340. 4

Question Number : 85 Question Id : 68634036545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.35

2.33

3.34

4. 32
Options :
686340144337. 1
686340144338. 2

686340144339. 3
686340144340. 4

Sub-Section Number : 4
Sub-Section Id : 6863401202
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 68634036546 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (86 to 90)
Question Label : Comprehension

Following pie chart give the percentage of people working in the right shuft from various industries and the
percentage in the respective brackets indicate the percentage of females out of number of people working in
the right shift. Total number of people 40250.

Chemical Industries T

16% (15%) 12% (20%)

Bankmg \ Spts
ek 7 18% (20%)
i
Sales <
‘4“.. (60%) e Call Center
I 32% (435%)

Sub questions

Question Number : 86 Question Id : 68634036547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s the percent of women working in sports industry of the total number of people working in the right
shifts from all industries together?

1.3.

[

Options :

686340144341. 1
686340144342.2
686340144343. 3
686340144344. 4

Question Number : 87 Question Id : 68634036548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the respective ratio of men to the women working in right shifts from the call centre industry?

1.11:9

[ )
=
hn

4. 117

Options :

686340144345. 1
686340144346. 2
686340144347.3
686340144348. 4

Question Number : 88 Question Id : 68634036549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the difference between the total number of men and the total number of women working in right shifts
trom all industries together?

1. 13254

| )

. 13524
3.13425
4. 13245

Options :
686340144349. 1



686340144350. 2
686340144351. 3
686340144352. 4

Question Number : 89 Question Id : 68634036550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the approximate average number of females working in right shifts from all the industries together?

1. 4481

[

. 3326

4.2227

Options :

686340144353.
686340144354.
686340144355.
686340144356.

W N =

Question Number : 90 Question Id : 68634036551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the total number of men working in right shifts from all the industries together?

1. 28678

[ ]

. 26887
3. 25788
4. 23657

Options :

686340144357. 1
686340144358. 2
686340144359. 3
686340144360. 4

Question Id : 68634036546 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (86 to 90)
Question Label : Comprehension
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Sub questions

Question Number : 86 Question Id : 68634036547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt Tl 1 U Ty e R AESE R S SRR $d il $ 9e § ° @d 39 H SRR
nigarail &1 wio=d &1 82

132
2.3.6
3.44

4.5.6

Ly

Options :

686340144341. 1
686340144342.2
686340144343.3
686340144344. 4

Question Number : 87 Question Id : 68634036548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

B Yex SN BT WS Ut & SreRd q=u! 3R Afgarsit &1 i Hihe s 82
1.11:9
3.8:13
4.11:7

Options :



686340144345. 1
686340144346. 2
686340144347. 3
686340144348. 4

Question Number : 88 Question Id : 68634036549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i IR &1 U iy HaH W ABST A Ul H SRRd g3l @1 $o S=7 3R Higesi & oo de
& dld T 3R g7

1. 13254

-2
—
Lad
Ln
[ ]
=

4. 13245

Options :

686340144349. 1
686340144350. 2
686340144351. 3
686340144352. 4

Question Number : 89 Question Id : 68634036550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gt I @l T gy fHeH R S9! UEEEE IRt H SRivd Sfewrsi &1 96 o ey Sid a1 82

1. 4481

-2
LFN]
L N]
[ )
Ch

4, 2227

Options :

686340144353. 1
686340144354. 2
686340144355. 3
686340144356. 4

Question Number : 90 Question Id : 68634036551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T ST 1 U@ WY e | S Rl E SR 5N &1 oa 9e #1567

1. 28678

-2

. 26887
3. 25788
4. 23657

Options :

686340144357. 1
686340144358. 2
686340144359. 3
686340144360. 4

Sub-Section Number : 5
Sub-Section Id : 6863401203
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 68634036552 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (91 to 95)
Question Label : Comprehension

The amount of production and sales by a company over the years (in lac units) 1s shown below.

B Production [ Sales

2002 2003 2004 2005 2006

Sub questions

Question Number : 91 Question Id : 68634036553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the difference of sales of 2003 and 2005 (in thousand units).

1. 1000

[
L
=

3. 100
4. 500

Options :

686340144361. 1
686340144362. 2
686340144363. 3
686340144364. 4

Question Number : 92 Question Id : 68634036554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Total sales of 2001 and 2002 together are approximately what percentage of sales in 2004?

1. 120%

[ )

. 100%
3. 50%
4. 200%

Options :

686340144365. 1
686340144366. 2
686340144367. 3
686340144368. 4

Question Number : 93 Question Id : 68634036555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In which year the percentage of sales to production is maximum?

1.2002

[ )

. 2004
3. 2006
4. 2001

Options :

686340144369. 1

686340144370. 2
686340144371. 3



686340144372. 4

Question Number : 94 Question Id : 68634036556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the approximate percentage increase in production from 2003 to 2004?

1. 25%

| )
Lad
Lad
=2
-]

3. 70%
4. 100%

Options :

686340144373. 1
686340144374. 2
686340144375. 3
686340144376. 4

Question Number : 95 Question Id : 68634036557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What 1s the percentage drop in sales from 2002 to 2003?

1. 5%

4. 60%

Options :

686340144377.
686340144378.
686340144379.
686340144380.

AW N =

Question Id : 68634036552 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (91 to 95)
Question Label : Comprehension
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2001 2002 2003 2004 2005 2006

Sub questions

Question Number : 91 Question Id : 68634036553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2003 311% 2005 @1 fap! H§ o1 3R (SR sHIEA H) 87

1. 1000

[ )
L
=

4. 500
Options :
686340144361. 1
686340144362. 2

686340144363. 3
686340144364. 4

Question Number : 92 Question Id : 68634036554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2001 3{IR 2002 1 P faeh! 1 T MY T TR 98 2004 T T8 (a9b1 B AT fda Uia<rd 87
1. 120 Ufd=d

. 100 Hfd=d

3. 50 BRI

4. 200 Y

Options :
686340144365. 1

[



686340144366. 2
686340144367. 3
686340144368. 4

Question Number : 93 Question Id : 68634036555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

forg af o Seare 31 gom o fasht o1 uiasd siftesan g2

1.2002

|

. 2004
3. 2006
4. 2001

Options :

686340144369. 1
686340144370. 2
686340144371. 3
686340144372. 4

Question Number : 94 Question Id : 68634036556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2003 ¥ 2004 T IS T IG BT HTHI WI=Id 1 82
1. 25 Ui
.35 gfagra
3. 70 Hfa¥rd
4. 100 Wfded

Options :

686340144373. 1
686340144374.2
686340144375. 3
686340144376. 4

[

Question Number : 95 Question Id : 68634036557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2002 ¥ 2003 I fasp! T FRTaC 1 o1 wiawra 82
1. 5 ufd=d
2. 40 Af=rd
3. 10 Gfa=rd
4. 60 Ul

Options :

686340144377. 1
686340144378. 2
686340144379. 3
686340144380. 4

Sub-Section Number : 6
Sub-Section Id : 6863401204
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 68634036558 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time

: N.A Minimum Instruction Time : 0
Question Numbers : (96 to 100)
Question Label : Comprehension

The following bar chart represents the value of exports and imports (in T crores) of a country in the given

period :

B Fxport ] Tmport

0 50 100 150 200 250 300 350 400 450 500
Sub questions

Question Number : 96 Question Id : 68634036559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In which year is the difference between the exports and the imports closest to 2100 crores?

1. 2016

[ ]

. 2015
3. 2017
4.2014

Options :

686340144381. 1
686340144382. 2
686340144383. 3
686340144384. 4

Question Number : 97 Question Id : 68634036560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The value of exports in 2016 was what percentage of the average value of imports in the years 2014, 2015 and
2017?

1. 200%

| )

. 180%

4. 100%

Options :

686340144385. 1
686340144386. 2
686340144387. 3
686340144388. 4

Question Number : 98 Question Id : 68634036561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What is the percentage of exports value of the value of imports in the year 2014?

1.50%

[ )

. 100%

4. 200%

Options :
686340144389. 1
686340144390. 2



686340144391. 3
686340144392. 4

Question Number : 99 Question Id : 68634036562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the approximate difference (in  crores) between the average exports and average imports during the
given years?

Options :

686340144393. 1
686340144394. 2
686340144395.3
686340144396. 4

Question Number : 100 Question Id : 68634036563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the percentage increase in the value of exports in 2016 over 20157

1. 120%

| B

. 90%
3. 70%
4. 50%

Options :

686340144397.
686340144398.
686340144399.
686340144400.

W N =

Question Id : 68634036558 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (96 to 100)
Question Label : Comprehension
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Sub questions

Question Number : 96 Question Id : 68634036559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

forg o § frafa SR 3T & i 3fdv 2 100 FRIS & Fdeaq U

1.2016

2

. 2015
3.2017
4, 2014
Options :
686340144381. 1
686340144382. 2

686340144383. 3
686340144384. 4

Question Number : 97 Question Id : 68634036560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2016 § Fafd &1 e ay 2014, 2015 3R 2017 § 3{1ATd & 190 Heg &1 [a-1 Hid=d 41
1. 200 Wid2rd
. 180 Wi
3. 150 Ui
4. 100 Wid=rd

Options :
686340144385. 1

| )



686340144386. 2
686340144387. 3
686340144388. 4

Question Number : 98 Question Id : 68634036561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
a¥ 2014 H U 34T & Hed Bt go1 3 (afd-ged o1 o1 wiawd 82

1. 50 Ufded
2. 100 Hfded
3. 150 Hfded
4. 200 Ui

Options :

686340144389, 1

686340144390. 2

686340144391. 3
686340144392. 4

Question Number : 99 Question Id : 68634036562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e U 70 aul & SR Sid Faid SR S Sard o did TR 3R (@118 2 1) |87

1. 65

2
[rs]
L

3. 105
4. 135

Options :

686340144393. 1
686340144394. 2
686340144395. 3
686340144396. 4

Question Number : 100 Question Id : 68634036563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ay 2015 P Ga1 1 2016 T Faid & g d g &1 o1 9iawd 82
1. 120%
2. 90%
3. 70%
4.50%
Options :
686340144397
686340144398,

686340144399.
686340144400.
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